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1. KoK= ODF‘%M%y—ax@ﬂ&T% L7 S, 4. RO & OFEE y = T@ﬁ/f%% L7z &,
Express the relationship between the following quantities as y=ax. Express the relationship between the following quantities as y= % .
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The distance y is walk Let y be the average speed
in x hours at 2 km/h. of running 10km for x hours.
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Complete the following proportional table. Complete the following inverse proportional table.
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y=2x —2xx y=25x v 4 + x Yy
x| O 1 2 3 x| O 1 2 3 x| O 1 2 4 x| O 1 2 3
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Draw the following proportional graph. Draw the following inverse proportional graph.
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1. XKOK & OBFEEy=ax?D BTk LrE, 4. RO & OFEE y = T@ BTk Lasn,
Express the relationship between the following quantities as y=ax. Express the relationship between the following quantities as y= % .
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The distance y is ran Let y be the average speed of
in x hours at 8 km/h. running 20 km for x hours.
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Complete the following proportional table. Complete the following inverse proportional table.
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Draw the following proportional graph. Draw the following inverse proportional graph.
nn En bAED v En bAED
15 B A 15 B A
x|—6|—3] 0| 3| 6 x|—4|—2| 0| 2| 4 x||—3|—1] 0 | 1| 3 X||—4|-2|-1|0| 1| 2|4
y| 4| 2|0 |—2]|—4 yiIl 2] 1] 0 |—1]—2 y| 1| 3 —3|—1 yl1|2]4 —4|—2| -1
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Express the relationship between the following quantities as y=ax. e R
o ED oA N 1 [
i| HE I L oA L oBA
e bk © 6km o EHEE x BEH | 8 km o BEHEZ x 15
k h T x [ - k h T x [ - ~hEA L OZS ~EAL L 2L
§ km/h Cx BRI ST | 9 k7 Cx RERIE S o 12 T y km b | oo 7 TR y km/h
I A A y km R & y km Let y be the average speed
The distance y is ran of ran 6 km for x hours.
in x hours at 6 km/h.
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Complete the following proportional table. Complete the following inverse proportional table.
e En bAED e En bA D
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Draw the following proportional graph. Draw the following inverse proportional graph.
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x|—4|—2| 0| 2 | 4 x|—6|—3| 0| 3| 6 x||—2|—1] 0 1| 2 x|—3|—2| 0] 2| 3
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Express the relationship between the following quantities as y=ax. e R
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e bk O 12km O Fife i x 056 | D 15km o B % x % A
12 kmh T x K 16 km,/h T x ¥ ST enroxg
O 1Zkm/h € xR \@ 16 km /b C B o 1 IR ykm b | o 7 FHIFE y km
,‘ZEO 7~ EE?HE% ykm TZEOfC EE?HE% ykm Let y be the average speed
The distance y is ran in of ran 6 km for x hours.
x hours at 12 km/h.
12
y= /2 x Y X
@|x| 0| 1]|2|3] [@|x|0]1|2]3 @|x| 0|13 |5]| |[@lx|0]1|2]3
yl o]12]24]36 y| 0|16/ 32|48 y 15| 5|3 y 12|64
C VT H ChVTHT )
b i E E b i E E
a::—%-: /f — a=xy
= 7 xX/5 =175
y= /2 x 75
YT Ty
G oAV VEY BAED HA T R Vx5 hAED
2. WO B D % &AL, 5. WOKILBIO & & 5wk k.
Complete the following proportional table. Complete the following inverse proportional table.
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Draw the following proportional graph.
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Draw the following inverse proportional graph.
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